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L’n mwn: uniqueness of n™1¥n Noa relative to MMT Noo
a. 7wwa npp. taken on the 10t
i. Source:v.1-nm wnno Myl
1.Challenge: n "1 Mp>a derived from here (v. 2->ntn is not exclusive)
2. Answer: derived from yinwn (v. 3); ntn (v. 4) >all offerings of this month are the same
a) Challenge: ntn 1992 7waN NR IR (v. 5) D> MMT nNoa also eaten at night
i. Answer: needed for p"ar1/y™ (eaten until midnight or dawn)
b) Challenge: 12 938> ®Y 91 931 (v.6) he also doesn’t eat m™T noa
i. Answer: 11 excludes him from exemption from m1 nx¥n
1.Note: both %7y and 121 12 needed; one is disfigured, the other wrongly motivated
ii. And:y %R RY 12wy 2vIN (v. 7) excludes apostasy as excluding him from nman (excludes from noa)
iii. And:ya 9% R IMR anYm (v. 8) limits 1721 112 NN as a %109 of noa only
iv. And:1avaw R oxy (v. 9) excludes invalid noa from oxy n1aw MoK
v. And: ®11190 198N YR (v. 10) associates noaa Y1y with Twyna Sy
b. 2ma: is sprinkled using the hyssop on the lintel and 2 doorposts
c. prram: eaten in haste — only one night
i. Per:v.11 —prona imy onvomy
d. 7n& oy amperennial noa lasts for 7 days
i. Referent: ynn Moy, following the nw17T of 3”1 that ynn Mo'r only lasted 1 day that year
II. "y mwn: »o1 '7’s conundrum and R2’py "7’s solution
a. Conundrum: oy "1 heard that noa n1nn is offered/not offered (rather sold and money used for nnYw)
b. Solution: if noa is designated as substitute for a lost noa and
i. Original is found before 7v’nw. substitute grazes until gets a 0, is sold and wn5w are brought with proceeds
1.And: same applies to its NN
ii. But if original is found after 7v'nw: substitute is offered as DnYY
1.And: same applies to its NN
II. Analysis 1: language of the nywn
a.Should have:taught that there is a noa which is not brought
i. Answer: teaches there is a noa n1nn which is not offered
1. 727 distinction between nvmw »nab/nomw
2.x7r 1. distinction between mxn InNRY/mxn ("VNY 1="nVMY")
3.Note: parallel dispute between 2p’5x 7/07m9n
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IV. Analysis 2: scope of R2’pY "1's explanation
a. Versionl: it is a comment on the X80 — when it is offered
i. 17 only offered if found after no'nw and NN made after nvMwY
1.if: found before no'nw and n1nn afterwards, NN comes from MNT MWITP and isn’t offered
ii. »ax: challenge from v. 11 — 2> oR includes nova nnn after noa which is offered as wn>w
1.Must: refer to one that is found before and 9mn afterwards
a) Rejection: was found and 1mn afterwards
b) And: v11 not used for that — Rnanor: onY® which come as a result of nova have all DM>w Nnxn
i.  To wit: PYVI NN NAMIN ,0’I01 ,NIND
¢)And: v12 — 1 ory interrupts — no requirement of N’ for 1y
b. Version2: it is a comment on the Xw>1 — when it isn’t offered
i. A27 only when found and 9mn before nvnw
1.If: found before and 1mn afterwards — offered (n0'nw doesn’t affect status of 129p that isn’t fit at the time)
ii. »ax: challenge from v11: noa nmnn is offered only after noa
1.must be: that it was found before nv'nw and mmn afterwards
2.837 (version2): is rejected
V. 9%nv’s equation: nnn nRON:DM5Y 1P NOA
a. In cases where: "N NRYN (e.g. MY NN, NRON T7), NoA is offered as DNHY
b. And in cases where: nY11 nRVN, NV also “grazes” (isn’t led to indirect death)
i. 71’1 only noa brought as oY is if found after nomw
ii. 9or 37(challenge to 5x1p®): nron whose year lapsed “grazes”, but noa is offered
1.&m77772: listing parallels to nnn nron lists Nnw 772Yw Noa
2. Answer: YR1w referred to PR (not PInT)
3.Challenge: pTaR are also sent to “graze”, yet noa is brought as onbw
a) Answer: YR1nw follows 11 (nT1aR dies)
b) Challenge: if noa “lost” before midday and then found — it grazes
i. Answer: lost before mxn isn’t “lost”
¢)Question: according to *27, which ones graze?
i. Answer: 981w holds like pynw "1 (5 mron die in any case; before or after)
1.He only: stated the 1% half (anything that dies...) to oppose 11y "1
a.To wit: no'nw doesn’t establish the rule; midday does
c. Note: there is an alternate version of YRmw and his adoption of »27’s position
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